
A-A ( 1 : 19 )

B ( 1 : 9 )

C ( 1 : 9 )

D ( 1 : 9 )

A A

B

C

D

PARTS LIST
DESCRIPTIONPRODUCT REF.QTYITEM

Channel slotted 41x41 length: 1498mmHDP1000TX149841
Channel 41x41 with Lip length: 1498mmHDP1003-1X149822
Channel slotted 41x41 length: 1498mmHDP1000TX149823
Channel length: 408mmHDP3300T10X040824
Channel slotted 41x41 length: 748mmHDP1000TX074825
Fitting flat L 3x hole 14 hot dip galvanizedHDP103666
Wing Fitting LL 2x hole 14 hot dip galvanizedHDP2341L27
Wing Fitting LR 2x hole 14 hot dip galvanizedHDP2341R28
Fitting folded 45° 2x hole 14 hot dip galvanized HDP154649
Roof for PV shelter B1580 D491 zink magnesium47665-001110
Concrete stone 300x300x80mm004-66-0002511
Fix-it Foot L400 B135 Hx100A04013412
Hex-Head Bolt M10 (DIN 933) hot dip galvanized length:20mm93388HDIM10X020413
Washer M10 (DIN 125-1 A) hot dip galvanized126HDM104814
Channel Nut PNP M10 hot dip galvanizedHDPNP106015
Fitting corner 90° Lb 3x hole 14 left hot dip galvanizedHDP1037116
Fitting corner 90° Lb 3x hole 14 right hot dip galvanizedHDP1038117
Reinforcement plate zink magnesium47732-001218
Washer M10 (DIN 9021) hot dip galvanized9021HDM10X30419
Hex-Head Bolt M10 (DIN 933) hot dip galvanized length:30mm93388HDIM10X0304820
Hex-Head Bolt M10 (DIN 933) hot dip galvanized length:60mm93388HDIM10X060

8
21

Ó This drawing is copyrighted, all rights reserved. This document may not, in hole or part, be copied, photocopied, translated or reduced to 
any electronic medium or machine readable form without prior consent, in writing, from Vergokan

Name: Large 1 sided shelter
Prod. ref.: PVSL 1S / PVSL 1S-AS Number: 47726-A01 Ver. : C

Material:
Category: Mounting systems Scale: 1 : 19

Format: A3Weight: 156,144 kg

Meersbloem-Melden 16
9700 Oudenaarde
Tel: 055/31.83.35
www.atkore.com/vergokan

Drawn: mzekri

Linear dimensions +/-1mm, angular +/- 1°
other according to ISO 2768-L

C Updates after feedback Regoort: mounting facilities 05/04/2023 mzekri
B Update after sample testing 16/02/2023 mzekri
A Launch Regoort models 31/01/2023 mzekri

VER VERSION DESCRIPTION DATE DESIGNER

748

10
0

16
50

491

1580

1

3 311

15

2

1

11

5 2 12 4

124512

1

12

6 14 20 1 5 7 8 9 12 4

10

10

19

20

3

16

17

22

22
8

HDP1020 Fitting flat 40x40 hole 13 hot dip galvanized

21




